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§ What is the solubility of silver chloride in g/L ?
(Ksp =1.3 x 10%)

AQCl (s) —=Ag" (ag) + Cl (ag) K, =1.6X 10-10

Initial (M) 0.00 0.00 K., = [Ag'][CI

Change (M) +S +s K=&

Equilibrium (M) s s s =\K,,
s=13x10°

[Ag]=1.3x105 M [CH=13x105 M

. _13x 10~ metAgCl = 143.35g AgCl _ 3
Solubility of AgCl T soln X ! molAger 1.9x 103 g/L




gl Ksp caal v 1 8 52 0.67 jlatas elall & CaSO, ol i€ g

aa136 = 32+4x16+40 = Ll el 5l Yl caas s Jall
m(gm) 0.67g
M.wt. 136.2g/mol

Ay ¥eally Jolaall 5850 golud c¥sall 2o Allad) oda 88 Al 1 Jelaall ana of Lagg

~ n(mol  4.9x107mol

n= =4.9%x 107 mol= sl vac

M = = =49%x107 M =Y 5l
V(D) 1.0L i
—— 2+ 2.
CaS0, ) Ca¥ag  + SO0y
S S :’L,_x.'zLingiJ\
Ksp = [Ca?* )] [SO,% )]

Ksp = [S][S]

Ksp = s2= [4.9x 1032 = 24x 10



The molar solubility [S] of lead(II) iodate in water is 4.0 x 10> mol/L. Calculate
Ksp for lead(II) iodate.

Pbl, == pb>T(aq) + 2I(aq)
S 2s s=4x 10°M
Ksp =[s][2s]?=4s>=4x (4 x 107)’=2.6 x 1013

A 1.6x107° B.64x 1014 C.2.6x101 D.40x10° E.40x107%

Which of the following would decrease the Ksp for Pbl,’

A. Lowering the pH of the solution B. Addi_ng a solution of Pb(NO;)
C. Adding a solution of KI

D. None of these—the Ksp of a compound is constant at constant temperature.




| In which one of the following solutions will acetic acid have the greates
percent ionization?

A. 0.1 M CH3COOH B. 0.1 M CH,COOH dissolved in 1.0 M HCI
C.0.1 M CH,COOH plus 0.1 MCH,COONa  D. 0.1 M CH3COOH plus 0.2 M CH3COONa




The K, for silver(I) phosphate 1s 1.8 X 10718, Calculate the molar solubility of
silver(I) phosphate.

Ag,PO, &5 3Ag7(aq) + PO,(aq)
3S S

Ksp=1.8x 10-1¥ =[3s]’[s] =27 s*
S*=Ksp /27 = 1.8x 10 /27= 6.66667 x 10-2°

S = 4/6.66667 x 10-20 = 1.6 x 10-5 = [Ag+] = [Ag3P0O4]

A 1.6x10°M B. 21 x10°M C. 3.7x10°M
D. 72x 10 M E 1.8x10'M




Calculate the silver ion concentration in a saturated solution of
silver(I) carbonate (K, = 8.1 x 10-%%).

A S0x105M

Ag,CO, = 2Ag'" + COZ~

B
Ksp =8.1x 1072 = [2s]°[s] = 4s°
$*=8.1x10"2/4=2.03x 10"
s =3,2.03x 10712 = 1.27 x 10

3
Ag] =2s=2x127x10*=2.53x 10* Molar.

B2Sx104M  C I3x10°M  D.20x10*M

E 81x10*M




